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1. Explain the following terminologies briefly. (40%)
(a) Algorithm (b) Router (¢) phishing (d) HTML
(e) multitasking (f) paging (g) program counter (h) CISC
2. Convert each of the following ten representations into its equivalent binary and
hexadecimal representations, respectively. Assuming the maximum number of
digits used in fraction part is 3. (10%)
(a) 23 (b) 185.36
3. Represent each value in the floating-point format shown as below, where S(sign
bit): 1 bit, C(exponent field) :3 bits excess code, M(mantissa ﬁe!d):4 bits. (10%).
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4. Using the following error-correcting code to decode (10%)
(a) 111010 110110  (b) 010011 000000 101001 100110
Symbol Representation

000000

001111

010011

011100

100110

101001

110101

111010

5. What is the difference between assembler, interpreter, and compiler? (10%)
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6. Rewrite the following instructions using a single if- else statement. (10%)
if (X ==5) goto 50

goto 60
50 print(Z)

goto 100
60  print(Y)

100 ...
7. List the result of each pass when applying insert sort algorithm to the list
below. (10%)
17, 100, 20, 15, 150, 32, 9



